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300x4 =1200
GtEn L)

300X 4=(3X4)X 100= 1200

500x3=1500
(GtED LA F)
500X 3=(5X3)X 100= 1500

800x9 =77200
GHED L)

800X 9 =(8X9) X |00=7200

400 %5 =2000
CLLIPNS
400X 5= (4% 5)X 100=2000

300x2 =600
CELIWNS

300X2=(3X2)X100=600

A PR NPE - RPEES ORNSE TR A

SET

.com

&

B &

700x2 = 1400
(tED LAHT)
700X 2=(7%X2)X100= 1400

J00 x 4 =3600
GEn L)
JOO X 4= (9 X 4) X 100=3600

200X 6 = 1200
GtEn L)
200X 6=(2X6)X 100= 1200

600 x5 =3000
GHED LA )
600X 5= (6% 5)x |00=3000

700%x5 =3500
(FtEn Lo r)

700X 5=(7x5)X |00=3500
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